KAM A& 3 VAT KIARIL 2. AT (costin i »‘ """""""""""""""""
NO PENOAFTALAN (OS5 (PPARF 1022 [ N
// [\ )
cpet .

N ala-a") < bq ~1b

b-9a < Ya-1b

4 ~4-da <4a-1b -4
A K Ho —20
‘o 24 L Yo -Ha ~2-0
-6g ~, —90
- -6 §
a >k (2 )
e ——
—@ . >
2% e
(V
‘ / ﬁd\ g
[Ei/z//oo/ ”\ A
(s
b
J . Y aﬂ\’
g i)
-2(a) < 5(2a-5)
~1a < |0q - 25
Qa0 < 0&-{00n —35
21y > 735 :
=gl =1
o > 2% / ) s
2 (V
225 ™
2> A )
i N\
&'S’ /"‘v’-‘\ [ ] )
By ) \'




il R

onIPPI8 F‘IO'B

fdeaide . o o A,

For each of 4he -Pol\ow'm\q ( T
(\) 12C2-9) < 4a-16

q)| Selve  “*he Follouoinj ineqbualme.g-
A4 -2a < 4q9 -G
4 -20-h4a £ Ha-4a -lC
4-4 -6a < -1 -4

-GQ é "QO e
% -G

)
a » 53—[/ 2.9 b/

=)

b) Ihugtyale +he <colution N number line-
, -

. o
3.3 Y

Q)| Stote the interval notation.

-t @

I S

[ 33, ) i
q Qa-5
i) 5 - =g
0. Solve the following inegualitres .
-da 4 5 (da-5)
-9a 4 \0a-2H
-2a -10a € 10a-l0a-35
_ =19@. Fi=d5
-12 —~ 13 P
ay -\ i F

) | Tlugtrate the colution i nymber [ihe .
? 7‘\(0 A

2.1

Z
~

Q) | Yo, the intevval notation
(2.1, 00\,

AN

o B




Wﬂq\lb.....,..__../m..).

/ 4
1(1-a) £ La-16 /\/7\ /

a. Inequalities: Y U/
420 £ 4Q-16 S
THE -0 £GA-1btY
-1G £ 40-30
-929-}a £-30
-6q £-10
- i
S /9
a2 33 o
b. numpey line
< 3 %, Y
L/ 7
Cinferval notation 7
[2.3,0) e
-~ :
.. |4, -5
L=
A. INequialities : b. nvumbey ling : 2
o— )
a(-2) £ 5(20-1) « f B -
< —
- 10 £100-195
-20-100 £ 25
Na £ a5 C. wRvol votahon-
N 2 (21,0) S
95 <
a> 28 | L/\r
a> . i

V>




No: ..ot Py Ont e B S
F(iUe&HQV\ | | | | | | | /, };T\
a) y2(g-a) £ Aa-16 [ A5
4-2a % 4q -16 ( -
A -datna £hayra — 16 \ 7N
N,
y £ga-l \ 7/
e < ba -6kl \
| 20 & 4G \/
ck e
af32.3; >
b)) Huskeon 8\ st dle dhe colukion tn numbey e
v \ N /
x F 4 /
&=~ N ( & (=
QO Hate Ahe \n{awd kot - /
| [_/3.5 ,00) . 4
W .(_:L z 2.0:75—
5‘ Lo
i’\“ a) solve dne (S;o\\om‘m\@ '\Y\qu,\)&\i'“e& () Stule he wWevyal otoeioh -
| (23,+) /
a(-2) 4 5(C20-5) P
<
=50 L loa —o 5

—2g+ 25 L ba-25t25b

22 4}50! 7
= i P

b) lystrate the intevval mea’,\m#\i’n‘q .

aLQ-2 )
PE— /
T / P




ek ¢ \os OEIPPIG [ >=)
.

Makike Neos DEIPPIR Flola- Totovial 2R \
S a(a-a) € a6 ) e =2 =g

) vy
@““‘ $ ba-i6

W“’l“ SYa-i6-g T e [323 co)
C/ T 2a é ba-l6—4
G— lQ—-}q < Ma—l@—q.

77 -2 7 19435 W <) <1.O%/>7)
/
ﬂ—-lq \Oq7l0w—lg

@ — 24 —{0a 7 —-2.§

S 12y 28

V= ’\

0\<90%\\



OSIPP\BFIO2Y
Tutorial 28

Question
Tov €ach of {we QOl\ow'f\g
()2¢2-a) £ ya -4

S q -
C)?‘SQ?QS

\C-:\
o

(® save twe Lollowing \nequalities
2(3-a)< Ua -1
~——+~

ya -4

£
\b) \“us+va+e the sowiion 0 numbev \ine

> W

Otate the \nievval motation

Ly, o)

(Q) S0lve {"he YU YWAREY TMIS R TE XS

q 2Q -5
1R

. Y _
-3Ca) < £C235%) o, $=2s,

—2q < 10q i\
-G =loa < W-'S
-Za &5 'S

*}d : l\-,l‘ AN

g 7 k= 1

K? ‘;v

/’;*

Q > % /N
Z

(b)\\\\\s-\va-}e the So\utdion n

N"umpev \ine

D P

Pl T

(O s¥ate Yne ‘nievua) notgdion

C% , o)

[



